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QUESTION 1

In a Database Cloud Service (DBCS) environment, which pre-created user has sudo privileges to run certain root
commands? 

A. grid 

B. oracle 

C. opc 

D. nobody 

E. oinstall 

Correct Answer: C 

Reference: https://docs.oracle.com/en/cloud/iaas/compute-iaas-cloud/stcsg/accessing-oracle-linuxinstance-using-
ssh.html#GUID-D947E2CC-0D4C-43F4-B2A9- A517037D6C11 

 

QUESTION 2

Examine these statements: 

Which statement is true? 

A. Statements 2 and 3 will validate the conversion 

B. Only statement 3 will validate the conversion 

C. Only statement 1 will validate the conversion 

D. Statement 1 will return an error 

E. All the statements will validate the conversion 

Correct Answer: B 

 

QUESTION 3
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Which three types of database objects can have their columns stored in the In-Memory column store? (Choose three.) 

A. heap tables with composite primary key constraints 

B. heap tables with dependent materialized views 

C. clustered tables with dependent materialized views 

D. index-organized tables stored in system-defined tablespaces 

E. sys-owned objects stored in sysaux-defined tablespaces 

Correct Answer: BDE 

Reference: https://docs.oracle.com/en/database/oracle/oracle-database/12.2/inmem/populating-objects-
inmemory.html#GUID-C5F856BF-70E3-41C6-A1BA- 1E94D7D230B8 

 

QUESTION 4

In a database on an Oracle Exadata Database machine, a DBA executes this command: 

SQL> exec DBMS_INMEMORY_ADMIN.ENABLE_FASTSTART (`fs_tbs\\'); 

What is the result? 

A. All columns for all tables in the FS_TBS tablespace are loaded into the In-Memory column store. 

B. Any data in the In-Memory column store is copied in compressed columnar format to the FS_TBS tablespace. 

C. Any data in the In-Memory column store is copied in uncompressed columnar format to the FS_TBS tablespace. 

D. Any data in the In-Memory column store is copied in row major format to the FS_TBS tablespace. 

Correct Answer: A 

Reference: https://docslide.us/download/link/database-in-memory-guide-oracle-help-center-find-anyerrors-please-report-
them 

 

QUESTION 5

You want to partition the SALES table on the CITY and SALE_DATE columns. 

Which three partitioning methods can you use? (Choose three.) 

A. range 

B. interval 

C. hash 

D. list 

E. virtual column-based 
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Correct Answer: ACD 

Reference: https://docs.oracle.com/database/121/VLDBG/GUID-6CE884AF-84A4-4E6A-
A3EFDCCEBCAB2DB2.htm#VLDBG00202 

 

QUESTION 6

In your CDB, DEPTCDB, local undo is enabled. You successfully execute this command: FLASHBACK PLUGGABLE
DATABASE hrpdb to SCN 424366; 

Which action must you perform next? 

A. Open HRPDB 

B. Take a backup of DEPTCDB 

C. Take a backup of HRPDB 

D. Open HRPDB with RESETLOGS 

E. Open DEPTCDB with RESETLOGS 

F. Open DEPTPDB 

Correct Answer: D 

Reference: http://dbaclass.com/article/performance-flashback-pluggable-databasepdb-oracle-12-2/ 

 

QUESTION 7

The TESTDB container database (CDB) contains two pluggable databases (PDBs), PDB1 and PDB2. 

USER1 is a local user in PDB1 and has the SYSBACKUP privilege. 

Connect descriptors for PDB1 and PDB2 are mapped to TNS aliases pdb1 and PDB2 in tnsnames.ora. 

Examine these commands executed by USER1 when all PDBs are open: 

What is the outcome and why? 

A. An error is returned because the user is connected to a pluggable database. 

B. The current date is displayed. 

C. An error is returned because SQL commands cannot be executed from RMAN without using the SQL shell syntax:
SQL"". 

D. An error is returned because the user is not SYS. 
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E. An error is returned because the user is not a common user. 

Correct Answer: C 

 

QUESTION 8

Identify four prerequisites for issuing the RMAN RECOVER TABLE command starting from ORACLE Database 12c
Release 2. 

A. The COMPATIBLE parameter must be set to 12.0 or greater. 

B. The database must be in ARCHIVELOG mode. 

C. FLASHBACK DATABASE must be enabled. 

D. RMAN must use a recovery catalog. 

E. The database must be in the READ WRITE state. 

F. RMAN can recover the table only from a backupset. 

G. An export dump file of the table must be available. 

H. There must be sufficient space to start the auxiliary instance. 

Correct Answer: ABEF 

Reference: https://docs.oracle.com/database/121/BRADV/rcmresind.htm#BRADV697 

 

QUESTION 9

In TESTDB, U1 has SYSDBA privileges and the password Oracle_4U. 

You recreate the password file: 

$ orapwd FILE=orapwtestdb FORMAT=12.2 password=Oracle_123 ENTRIES=5 

Examine the command and result: 

$ sqlplus u1/Oracle_4U@testdb as sysdba 

ERROR: 

ORA-01017: invalid username/password; logon denied 

What can you do to fix this error? 

A. Recreate the password file with the password set to Oracle_4U. 

B. Change the password of U1 to Oracle_123. 

C. Set the REMOTE_LOGIN_PASSWORDFILE parameter value to NONE. 
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D. Regrant SYSDBA to U1. 

E. Restart the database instance. 

Correct Answer: A 

Reference: https://asktom.oracle.com/pls/asktom/f?p=100:11:0::::P11_QUESTION_ID:670117794561 

 

QUESTION 10

Which three statements are true about the Automatic Database Diagnostic Monitor (ADDM)? (Choose three.) 

A. It analyzes only those memory components of the database instance that are impacting performance. 

B. It determines the segments on which waits are occurring when the database has a high number of buffer busy waits. 

C. It analyzes the performance of the database instance based on the latest two AWR snapshots. 

D. It determines SQL statements that are performing poorly. 

E. It recommends implementing SQL profiles to generate better execution plans. 

F. It analyzes only the components and waits that are impacting database performance. 

Correct Answer: BCD 

Reference: https://docs.oracle.com/cd/B19306_01/server.102/b14211/diagnsis.htm#g41683 

 

QUESTION 11

Examine this parameter: 

Examine these commands: 

Which three are true after executing these commands? (Choose three.) 
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A. All statements executed by SH are captured and included in a baseline. 

B. Statements executed by both SH and SYS may be captured and included in a baseline. 

C. Only statements executed by SYS are captured and included in a baseline. 

D. Only statements executed by SH containing the "TEST_ONLY" string are excluded from capture. 

E. Statements executed by any user containing the "TEST_ONLY" string are excluded from capture. 

F. Only repeatable statements executed by SYS and SH are considered for baselines. 

Correct Answer: AEF 

 

QUESTION 12

Which statement is true about Trace File Analyzer (TFA) Collector? 

A. TFA collects diagnostic data only for Oracle 12c Release 2 databases or later versions. 

B. If TFA is installed on any cluster node, it automatically collects diagnostic data on all other cluster nodes. 

C. It can be used to collect diagnostic data for predefined events, and can be configured to automatically collect data for
other events. 

D. In Oracle 12c Release 2, TFA installation can be done only while executing root.sh. 

E. It is used to collect diagnostic data only for ORA-600, ORA-7445, and ORA-4031 events. 

Correct Answer: D 

 

QUESTION 13

To which two components does the term "shape" refer in Oracle Database Cloud Service (DBaaS)? (Choose two.) 

A. number of network interface cards (NICs) 

B. number of database instances 

C. number of CPUs 

D. amount of RAM 

E. number of storage LUNs 

Correct Answer: CD 

Reference: https://cloud.oracle.com/database/faq 

 

QUESTION 14
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USER1 is an OS user with the password oracle and is only a member of the oinstall group. In the ORCL database, the
OS_AUTHEN_PREFIX value is ops$. 

Examine these commands executed by the DBA: 

SQL> CREATE USER ops$user1 IDENTIFIED externally; 

SQL> GRANT create session TO ops$user1; 

How can USER1 be given the SYSRAC privilege? 

A. Make User1 a member of the OSDBA group in Linux or the ORA_%HOMENAME%_SYSDBA group in Windows
only. 

B. Grant SYSRAC to user1. 

C. Grant SYSRAC to ops$user1. 

D. Make USER1 a member of the OSRACDBA group in Linux or the ORA_%HOMENAME%_SYSRAC group in
Windows. 

E. Grant SYSDBA to ops$user1 

Correct Answer: C 

 

QUESTION 15

Which two statements are true about the In-Memory (IM) column store? (Choose two.) 

A. It may be used for columns in Index Organized Tables (IOTs) 

B. It may be used for columns in clustered tables 

C. IM area size is not controlled by Oracle Automatic Memory Management 

D. IM area size can be set at the CDB and PDB levels 

E. IM area size can be increased or decreased dynamically 

F. It is not used for partitioned tables 

Correct Answer: AE 
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